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4-1 HLIL BIRFFIE172-1 3,395 M ﬁ‘f%??,ﬁ)

4-2 BLIL #RETIE173-1 750 M ﬁ‘f%??,ﬁ)

5-1 BLL HEEF AHI3-1 4,754 RE |REEHER?)
5-2 'Lz EmiAF R EH43-3 134 M REEEH (R
6-1 BLL EMFEEA1-1 8,968 M T e (R3)
6-2 BLL =T EIF42 768 M T EH (R3)
23-1 FEUT=L FRFRM2-1 996 M REeBEEH27)
23-2 YTy HRFEAMH2-8 371 | [PHEHZD
23-3 FEUT=L FRFRMH2-9 854 M REBEEH27)
23-4 YTy HRFEAM2-10 03| @ |PHEGZD
23-5 Yt BT A2 11 495 M ﬁg’i(?%z E,F
23-6 Y7L THAF K212 o3| @ [HEHZD
24-1 YRl |EEFETI2 ot | 4m [PHEHZ
24-2 YLy [MRFIETII g7| 4 [PHEHZ
25-1 YL [P 163-611 66| 4 [PHEHZ
25-2 FYRLY  [SERFRIERE163-607 208| 4 [PHEHZ)
26-1 FEYT=LY % AP B AREF 75-5 424 b T HE(H29)
27-1 FEU =L =EHFEK364 1,134 H REEE(H29)
30-1 FEU =L LEHFHR163-1 2,427 M FHEH30)
31-1 FEYT=LY FRFHRHIR289 1,978 M FHEHST)
31-2 FEYT=LY $FIRFHHIR290 2,001 M FHEHST)
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31-3 FeYt=Ly FFIRFHaferR 305 1,678 M FHEH3T)
31-4 FEYT=LY IR FHafR306-1 600 M FHHEHST)
31-5 FEYT=LY IR FHEFIR306-2 1,243 M FHHEHST)
31-6 FEYt=Ly IR FHafTIR328 2,245 M FHEH3T)
31-7 FEYT=LY FR=F)IER72-3 823 pil THEHST)
32-1 FEU =L BFRFILIZ44-4 446 M REEERI
33-1 FEYT=LY PBEFEME282-1 2,302 M THHERTD
33-2 FEYT=LY PBEFEM282-3 2 M THHERTD
33-3 FEYT=LY PBEFEME283-1 2,608 M THERTD
33-4 FEYT=LY PBEFEMH283-3 1 M THERD
35-1 FEYT=LY FlcFSEHE278-1 529 M THERTD
36-1 FEYT=LY Fo)IISF SR H60-1 589 | FEME | THHERT
36-2 FEYT=LY F)ISF4EEH60-2 414 | HiEH  [FHERID
41-1 FEYT=LY BRAFILF4 5,801 M HHERD)
42-1 FEYT=LY ERFILT175-1 644 FE | FHERI)
42-2 FEYT=LY EHRFILT189 1,599 FE | FHERI)
42-3 FEYT=LY EHRFILT198 208 FE | FHERI)
43-1 FEU =L AT E45-2 203 | HMiEM |[REEBEERI)
44-1 FelY 1=y EREFERM2-1 2,320 M THERI)
44-2 EUt-(N EEEFERI12-5 294 H THERI)
44-3 EUt-(N EEEFRI12-6 952 H THERI)
44-4 FEY =LY EEEFRN4-3 29 H THHERI)
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45-1 FEYUT=LY T PR3 11 5,347 M REEEHRSI)
46-1 FEYT=LY & R4 681 1,884 22| T#HHE (R3)
46-2 FEYT=LY KHEATFIRAERT4-1 4,309 22| T #HHE (R3)
46-3 FEYT=LY KHERTFIRERT4-2 614 M T #HE (R3)
47-1 FEYt=Ly = EF)IFET37 160 M HHERSI)
47-2 FEYt=Ly = EF)IFET38 713 M HHERSI)
47-3 FEYt=Ly = EF)IFEET39 1,720 M HHERSI)
47-4 FEYt=Ly = EF)IEE740 1,551 M HHERSI)
47-5 FEUT=L = H = H %7260 16 M T #HHE (R3)
47-6 FEYT=LY = HEFEHE L5871 323 pi T #E (R3)
48-1 FEYt=Ly EIKF)IIFR95 1,020 M #E(R3)
48-2 FEYt=Ly EIKF)IF96 1,681 M #E(R3)
49-1 FEYT=LY 40111031 2,176 M #HHE(R3)
49-2 FEYT=LY II=F40J11103-2 506 H REEERSI)
51-2 | F|YLVELLY |=ERFAIL381-44 1,124 b REeBEEH27)
51-3 | FEYLVELLY |=RFHIL381-271 360 b REeBEEH27)
53-1 FULV/ELEZLY |[FIBFEH85 297 52| T#HEH28)
53-2 FULV/ELEZLY |[FIBFEH386 33 pl T#HEH28)
56-1 FEUTLVELZL |BAF A R %5426-2 1,377 b REBEHE(H28)
56-2 | FEYTLV/ELL |BAF A R¥p428-2 733 b REEE(H28)
56-3 | FEYFLVELRLY |B9AFREF25-1 148 | #7EH |[REEE(H28)
56-4 | FEYLVELELY |BBHAFRET5-3 2,683 M FEEIE(H28)
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56-5 | SEYT-LV/ELLY |BAF R EF0-2 966 M REEE(H28)
57-1 SEY-LV/ELELY [FERIRTFHIEI53-222 793 bl REEHE(H28)
57-2 SEY-LV/ELELY [FERIRTFHIEIS3-223 1,311 bl REEHE(H28)
57-3 SEY-LV/ELEL [FEHIRFHE353-224 1,371 bl REEHE(H28)
57-4 SEY-LV/ELELY [FERIRFHIEI53-225 1,371 bl REEHE(H28)
57-5 SEY-LV/ELELY [FERIRFHIEI53-357 41 bl REEHE(H28)
58-1 FUzLV/ELEZL |BKFAERE58 3,309 M T HE(H29)
59-1 YL/ ELELY |EHF/\UE177-2 185 b R EE(H29)
60-2 | FEYFLVELRL |RIREFHEE162-1 2,085 22| R EE(H29)
60-3 | FEYILVELRL |REFHEE162-2 2,454 22| R EE(H29)
61-1 FULVELENL |BERFEKR267-2 51 22| T FE(HI0)
62-1 sEUF-LV/ELEZLY [HARFERIT 130 M e EHE(HI0)
65-1 FURLV/ELEZL [REFHEEI61-1 1,090 22| REBEEHI1)
65-2 | FEYILVELRL |REFHEE161-2 1,107 22| REBEEHI)
65-3 | FEYFLVELRL |RIRFTEE61-4 204 22| REBEEHI)
65-4 | FEYTLVELRLY |REFHEE161-6 330 22| REBEEHI1)
66-1 FEYUt=LVELZL |FEEIRS Hi£353-306 423 pl T#HEH29)
66-2 FeWUtzLVELL |FEEIRS Hi£353-307 594 pl T #HEH29)
66-3 FeWUtzLVELZL |FEEIRSF Hi#353-315 3,579 p #EH29)
67-1 FURLV/ELEZLY [FIIFLEE277-2 2,357 22| REEER2)
67-2 | FEYFLVELRZLY |FIFEEH279-3 241 22| REEER2)
68-1 FUTLVELEZL | EIEFKF7388-1 5,924 pil T HER2)
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68-2 FUzLW/ELEZW | EEF KR 388-2 10 pil THER2)
68-3 FUzLV/ELEZL | EEFKT389-1 5,962 pi THHER2)
68-4 FUzLW/ELEZWL | EEFKR389-2 5,963 pi THHER2)
68-5 FUzLV/ELEZL | EEFKR389-3 5,963 pi THHER2)
69-1 FEYfLyV/ELZLY [P B 85-1 2,065 H ﬁ‘fgﬁﬁ
69-2 SEYT-LV/EL=LY [i)II [ E85-22 1,406 H ﬁ‘fgﬁﬁ
70-1 FUTLVELEZLY | PBEFEHAF43-1 1,436 b REEEHRSI)
71-1 FEUTLV/ELZLY | T E 83451 1,676 pi THHERI)
72-1 FULVELEL |FIBFEH47-7 2,102 M HHERSI)
72-2 FULV/ELEL |FIBFEH47-9 1,239 M ﬁi’ﬁ%‘:’;ﬁ
73-1 FY =0y AR A 320 3,605 2 ﬁi’ﬁ%‘:’;ﬁ
73-2 FUzLV/ELEZL |BARFILO194-1 2,314 22| THHERA)
73-3 FULW/ELEZWL |BHFARFILO194-3 545 22| THHERA)
73-4 FULW/ELEZWL |BFARFILO234 145 M THERA)
75-1 FEYT-LV/ELELY |[FMFEEIL188-1 485 22| HHERA)
75-2 FEYT-LV/ELELY |[FPMFEEIL189-1 2,608 22| HHERA)
75-3 FEYT-LV/ELEZLY |FPMFEEIL189-2 347 22| HHERA)
75-4 FEYT-LV/ELELY |[FPMFEZ1L190-1 109 22| HHERA)
75-5 FEYT-LV/ELELY |FMFEEIL192-2 66 22| HHERA)
76-1 FEU =L i fEE 1551 1,412 M THERA)
76-2 FEUT=L i F1E M 155-2 73 M THERA)
76-3 FEU =L e E 155-4 558 M THHERA)
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76-4 FEU =L i fE M 24-2 109 M T #E(RG)
76-5 FEYT=LY FWFRERN211 306 M T #HE(RG)
77-1 BLEZL B FEE46-1 208 M REEHERY)
77-2 BLZL A F3E%E46-2 98 M REEEHRY)
77-3 'Lz HIFEE4T-3 3,475 M REEHERY)
77-4 'Lz HNFEEAT-T 2,791 M REEHERY)
78-1 FYLV/ELEZWL | REAFEH22-1 505 b ReEE(R4)
78-2 | F|YLVELRLY | REFTEH22-6 493 b ReEE(R4)
79-1 FURLV/ELEZW | &/EFFEM8s-1 2,825 M ReEE(R4)
80-1 FEYT=LY FAFILO24-1 1,040 pil THHERA)
83-1 FEYT=LY RKRFEFHE9-2 1,188 M T #HHE (R4)
83-2 FEYT=LY RKRFEFHE9-9 1,297 M T #HHE (R4)
83-3 FEYT=LY RKRFEFH121-1 4,960 M T #HHE (R4)
83-4 FEYT=LY RKRFEFH121-2 629 M T #HHE (R4)
83-5 FEYT=LY RKRFEFH144-2 362 M T #HHE (R4)
86-1 FEU T 7= H 751 B 113951 526 b ReEE(R4)
87-1 FUZLV/ELEZLY | HEFRHI29-2 695 M THHERA)
89-1 FEU =L EnsAF A R EF440-1 436 | MiEH |REEHER4)
89-2 FEU =L EnsAF A R $7440-2 326 | MiEH |IREEER4)
89-3 FEU =L ED3AF A R $7440-3 328 | HMiEH |IREEER4)
91-1 FEYUT-LV/ELELY | FIEFEME55-3 407 M THERA)
92-1 BLEZL KHATFIRAEHEI-1 7,139 22| REEERY)
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93-1 FEU =L ARE1TH578-3 367 b REEERA)
94-1 FUTLV/ELZL | TFHEFH65-2 216 b REEHEHRA)
94-2 | F|YLVELLY |THEFFHFH65-4 878 b REEHEHRA)
94-3 | FTYLV/ELLY |TFHEFFHB66-1 367 b REEEHRA)
94-4 | FEYFLVELRL |TFHEFM E20 760 b REEERY
94-5 | FEYFLVELRL |#EFHL23-2 261 b REEERY
94-6 | FEYFLV/ELZLY |EEFHL38-2 1,917 b REEERY
94-7 FUTLV/ELZLY |#2EFRI1536-3 888 M REEERY)
94-8 | FTYILVELTLY |EEFRIIE65-6 400 b REEEHRA)
95-1 ULV ELEL [FRAFILET-10 3,982 pl T#ER4)
95-2 FULVELEL [FRRFILE17-52 4,165 pl THER4)
95-3 UL/ ELEL [FRAFILENT-54 661 pl THER4)
95-4 | FEYLV/ELLY |[BRRFILFE17-55 350 22| THERR4)
95-5 FYLV/ELEL |BRRAFILENT-111 7,203 pl THER4)
95-6 FEULV/ELEL |BRAFILA107 2,661 M THER4)
96-1 FEYT=LY RRFEHA131-17 526 p THERR4)
97-1 FEYTLV/ELEL | FILE113-1 2,692 22| T #E(RD)
98-1 | FEYLLVELELY [EEFEKIT0-1 4,245 H R;':f%ff*gjf)
98-2 | FYRLVELEL [EEFEKIT0-2 079 @ |THHERS
98-3 | sEYfLVELELY |EHFEKIT0-5 227 g gjﬁjfgif’)
98-4 FEULVELEZLY |EEFEK378-1 297 22| T #H4E (R5)
98-5 FEYUT-LV/ELZLY |EHEFEK380-1 97 M T #4E (R5)
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98-6 | FTYLVELEL [EHFEKISI-5 114 22! T #HE (R5)
98-7 | FEYLLVELEL |[EHFEK4H3 913 H T #HE (R5)
98-8 | FEYULLVELEL |EHFEK44 636 H T #HE (R5)
98-9 | FEYLLVELELY [EEFEK4S 577 g gjﬁjfgif’)
99-1 BLIL =HFEKI63-1 1goa| @ |THHERS
101-1 LI |BAFHI106-1 3s00| @ |FAHERS
101-2 (BN FRFH)11106-2 3205| @ |FAHERS
102-1 | FYRL/ELEL |BEKSFAEHS-2 2587 @ |FAHERS)
102-2 | FYLLVELED |BERBFIEE-4 07| @ |THERS)
102-3 | FYRL/ELED [KERFER67 3080 | sm  |FAHERS)
102-4 | FYEL/ELEL |[KERFER69 66| o  |THHERS)
102-5 | FYLL/ELEL [KERFERIT0 o09 | 4@ |TRHERS)
1031 Y=L 7 R 52531 3g35| @ |FAHERS
103-2 Y7L 7 R 5532 3as2| @ |FAHERS)
104-1 | SEYFLVELELY (#iHF FRE258-84 1,079 gl gjﬁjfgif’)
105-1 | SEYf=LVELIzW | BT ERF227 69 b T #HE (R5)
105-2 | ZEYLvELELY (FFRFHFH228 1,077 b T #HE (R5)
105-3 | ZEYFLVELEL (FFRF K230 357 b T #HE (R5)
105-4 | ZEYLvVELELY (FFRFHFH232 1,233 b T #HE (R5)
105-5 | SEYf=LVELIzL |BFRFERFF252 585 b T #HE (R5)
106-1 | FEYFLV/ELEL [(FIBFIRET5-6 951 b T #HE (R5)
107-1 LW RBFINE52-1 5,753 =2 E (RS)
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107-2 BLEZL RBFING53-1 1,166 M #HE (R5)
107-3 gLz RKBFINR53-2 777 M e (R5)
107-4 'L RBFING54 89 pl #H4Eh (RD)
107-5 'L RABFINE65 638 22| #H4Eh (RD)
107-6 'L KABFIN66 674 22| #H4Eh (RD)
108-1 FEU =L == M= BT EREF 140-10 33 b REEERS)
108-2 FEU =L FEHFRIEREF161-5 102 b REEERS)
108-3 FEU =L FE M RIEREF161-11 224 b REEHERS)
108-4 FEUT=L == M= BT R EF 163-20 2,416 b REEHERS)
110-1 | FEYULLVELEL |BERFEFKR523 414 22| T #H4E (R5)
110-2 | FEYULLVELEL |BERFEKRS24 406 22| T #4E (R5)
110-3 | FEYULLVELEL |BERFEKIR25 422 22| T #4E (R5)
110-4 | FEYULLV/ELRL |BERFEKIR526 400 22| T #4E (R5)
110-5 | FEUFLVELRL |BERFEFKIR36 379 22| T #4E (R5)
110-6 | FEUFLV/ELRL |BERRFFKIRS3T 373 22| T #H4E (R5)
110-7 | FEYULLVELEL |BERFEKIR538 388 22| T #HE (R5)
110-8 | FEYULVELRLY |BERFFKIR39 374 22| T #HE (R5)
112-1 | FEULLV/ELEL |BFRFEH)1139-2 41 M T #H4E (R5)
112-2 | FTEYLV/ELEL |BFRFEH)I143-1 138 22| T #4E (R5)
112-3 | FTEYLV/ELEL |BFRFE)I1150-1 757 22| T #H4E (R5)
113-1 FEYt=Ly F = =51 2,517 M #HE (R5)
113-2 FEYt=Ly FlF =61 3,848 M #HEH (R5)
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113-3 FeYt=Ly FIF=EIE6-2 759 M #HE (R5)
14-1 | FEYLV/ELELY |ERTFHAT8-1 3,633 M T #4E (R5)
114-2 | FTEYFLV/ELEL |PIBFER107-1 2,425 22| T #4% (R5)
116-1 | FEULLV/ELREL |BYBRF TR 1,923 22| #HE (R5)
116-2 | FEUFLVELRZL |BYEFTIIRIS-2 2,290 22| #HE (R5)
116-3 | FT|YLV/ELELY |BYBRFTIIRIS-3 991 22| #H4Eh (RD)
1M7-1 | FTEYLLV/ELEL |[FE0FEIF43-1 2,821 M T #HE (R5)
118-1 FEU =L EEFHEE-1 1,141 H REEE(RG)
119-1 FEUT=L HEF/INA68 293 M FEEE (R6)
119-2 FEUT=L HEF/INA69 564 M R EHE (R6)
119-3 FEU =L HEFINAT 128 M ZEEE (R6)
119-4 FEU =L HEFINET2-1 1,973 M F2EE (R6)
119-5 FEU =L HEFINGT2-2 455 M R EHE (R6)
119-6 FEU T HEF/INET3-1 939 M ZEEE (R6)
119-7 FEU T HEFINGT3-2 665 M ZEEE (R6)
120-1 FEU T i fEm 1421 3,105 M #H4Eh (R6)
120-2 FEU =L i fEm 142-4 322 M #H4Eh (R6)
120-3 FEYT=LY W F REMN156 8,255 M #HE (R6)
120-4 FEYT=LY fi] T =P #A AR 48-2 2,983 M #4Eh (R6)
120-5 FEU =L fi] B =7 = A< 131 791 M ZEEE (R6)
120-6 FEUT=L fi] BT =7 = A< 13-2 437 M ZEEE (R6)
120-7 FEU =L fi] BT =7 = A< 13-3 791 M ZEEE (R6)
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120-8 FEYUT=LY fi] BT =7 = AN 14-2 2,736 M Z2EE (R6)
120-11 FEYT=LY fi] ] =7 = AR 72-2 1,050 b R EHE (R6)
120-12 FEYT=LY ] B 7 = AN 74-22 1,147 b R EHE (R6)
120-13 FEU =L ] BT =7 & A 74-23 2,389 b REEHE (R6)
120-14 FEU =L Fi] BT =F & A 74-26 214 b REEHE (R6)
121-1 FEU =L REFES4-1 1,413 M REEHE (R6)
121-2 FEYT=LY & HFHE#%393 1,087 M #4Eh (R6)
122-1 | F|YLVELRL |mYRFER2-1 472 b REEE (R6)
122-2 | F|YFLV/ELEL |mYRFER266-1 2,664 pl T #4% (R6)
122-3 | FTEYFLVELEL |mYRFER266-2 1,203 pl T #4% (R6)
122-4 | FEYFLVELEL |BRFSHS-4 271 M T #HE (R6)
122-5 | FEYFLV/ELEL |BFRFSHI13-1 1,110 pi T #4% (R6)
122-6 | FTEYF-LV/ELEL |BFRFSHT2-1 1,187 M T #HE (R6)
123-1 BLzL FEHIRF Hi£169-9 630 b REEHE(R6)
123-2 'Lz FEHIRFHiE169-13 443 b REEHE(R6)
123-3 BLEzL FEHIRFHiE169-15 689 b REEHE (R6)
123-4 BLZL B R HiE297-1 1,604 22| REEHE (R6)
124-1 gL MR 5246 1,000 M #HE (R6)
124-2 gL MR EE247 1,587 M #HE (R6)
124-3 'Lz HHRs 5248 500 M #HE (R6)
125-1 | FEUFLVELELY |EBFEKI32-1 1,076 H T #E (R6)
125-2 | FEUFLV/ELRZLY |ERFEK132-3 23 M T #HE (R6)
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125-3 | FEUFLVELRZLY |ERFEKIST-2 2,304 XM T #HE (R6)
125-4 | FEYLV/ELEZLY |ZEARKRFIIE123-1 427 b R EHE (R6)
125-5 | FEYLVELELY |ZXRKRF)INE130 427 22| T #HE (R6)
125-6 | FEULVELRZLY |ZEXRKF)IIE212-1 987 52| T #HE (R6)
125-7 | FEUFLVELRLY |ZERKF)IB225-1 1,151 H T #HE (R6)
125-8 | FEUFLVELRZLY |EXRKF)IIEG225-4 679 52| T #HE (R6)
127-1 FEU =L T RILT3 59 M FEEE (R6)
128-1 | FEYFLV/ELEL |ARKRFILD137 2,091 pi T #4% (R6)
128-2 | FEYUFLLV/ELRZLY |AFEIRFILB137-2 257 pl T #4% (R6)
129-1 FEUT=L KEF TR 1,440 b R EHE (R6)
130-1 BLL e 1131 1,122 22| #HE (R6)
130-2 BLL i FEE115-2 4,952 22| #HE (R6)
131-1 FEYT=LY AR %263 228 M T #E (R6)
131-2 FEYT=LY B R HiE267 211 pi T #4% (R6)
131-3 FEYt=Ly Fa R %2268 1 3,940 M #HE (R6)
131-4 FEYt=Ly 78 R % 268-2 561 M T #H4E (R6)
131-5 FEYt=Ly 78 H R i 353-42 816 p T #HE (R6)
131-6 FEYT=LY REFIEHI1-1 626 pil T #4% (R6)
131-7 FEYT=LY REFIEH31-6 637 pil T #4% (R6)
131-8 FEYT=LY REFIE245 2,927 M #H4Eh (R6)
132-1 FEUT=L EHEFEKSI 2,223 b REEHE (R6)
132-2 FEYT=LY EHFEK5SS8 1,254 XM T #4% (R6)
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132-3 FEYT=LY BFIRFHIFH82 1,570 pil T #4% (R6)
133-1 FEYT=LY FARFERI51-1 78 M #4Eh (R6)
133-2 FEYT=LY FARFERI51-2 2,204 M #HE (R6)
133-3 FEYUT=LY L HFEIF162 3,144 M #HE (R6)
134-1 FEYT=LY )15 i%50-2 2,079 M T #H1E (R6)
135-1 FEYT=LY EnsAF A R E7496 595 pil T #4% (R6)
136-1 FEYT=LY HFFFE162-87 979 pil T#4% (R6)
137-1 FEU =L TR FEAT4-1 2,300 b R EHE (R6)
137-2 FEUT=L HETEFEAT4-3 796 b R EHE (R6)
137-3 FEUT=L HETE FEAT4-5 4,160 b R EHE (R6)
137-4 FEU =L HETEF FE A8 144 b R EHE (R6)
138-1 | FEYRLVELEL |EEHFEKIS 3,587 b REEHE (R6)
138-2 | FEYUFLVELRLY |BEEHFEKI19-18 799 H REEHE (R6)
138-3 | FTYLVELEL |BERRFEKIR244 128 22| ZEEE (R6)
139-1 | FEYFLVELEL | PBEFEH148-7 519 pl T #4% (R6)
140-1 | FEUFLVELRLY |FIUFEIE53-1 284 M T #H4E (R6)
140-2 | FEYUFLV/ELRZLY |FILUFEEIRS53-3 2,788 M T #HE (R6)
141-1 | FEYLLV/ELEWL | REFHEH292 2,225 M #4Eh (R6)
141-2 | FEYLLV/ELEWL | REFHEH293 3,009 M #4Eh (R6)
141-3 | FEYUFLVELRLY | REAFTEFH294 630 M #4Eh (R6)
141-4 | FEYLV/ELEL | REFHEH295 28 H HE (R6)
141-5 | FYLV/ELRWL | ZREFHEF296 729 M #4Eh (R6)




= EER SHTEIB108K A
ORthEFRY =1\ - B L= LVER (BHHE)

BEBES X5 BT mEiE (m) | FRME |zewonmws @ae
142-1 FEU =L IMEFTH14-1 1,668 b REEERT)
142-2 FEY =Ly IMEFFIR421 2,675 H e (RT)
142-3 FEY =Ly IMEFFIR422 2,972 H e (RT)
142-4 FEY =Ly IMEF{RIR423 2,962 H e (RT)
142-5 FEY =Ly IMEFFIR424 2,967 H e (RT)
142-6 FEY =Ly IMEFFIR441 723 H e (RT)
142-7 FEY =Ly IMEFFIR442 2,989 H e (RT)
142-8 FEYT=LY EIEFKE497 632 H A (RT)
142-9 FEYT=LY EIEFKE498 2,906 H A (RT)
142-10 FEYT=LY EEFKE499 2,902 H A (RT)
142-11 FEYT=LY EEFKES00 2,896 H #HAE (RT)




